## STUDENT TECHNOLOGY FEE REQUEST FORM

Procedure for Submission: Form Updated: 8/20/13

1. Submitter must obtain all required information from the desired vendor(s). An official quote from the vendor must be attached.

IMPORTANT: Attach an official quote from the vendor

- 2. Only one request per Request Form. This request must be reviewed, approved, and submitted by the requesting program's Department Chair.
- 3. The Dept. Chair may email this request to the Tech Fee Director. Since some departments will have multiple requests, please rename request in the following format: Dept # (rank, 1 being the highest priority) and a brief title

Requesting Faculty: John J. Schlageter, III

October 8, 2015

Date Submitted:

No.

TWI OKTAINT. Attach an official quote from the vehicle.								
	List one item OR group (for use as a "package") per page.							
Item Name		Vendor info. (name, address, Web site URL, phone #, email, etc.)	Part or Model #	Cost (each)		Qty	Total	
Quote as attached								
	The McOua	de Courtroom (HH 1419) serves as a classroom for the	e	<u> </u>				
	~	Paralegal Studies classes. In addition, the courtroom						
		the Criminal Forensics & Trial Practice class (cross-liste						
	class as part	of a program collaboration between Paralegal Studies ar						
Course(s) where		tice programs); b) The Advocacy: Mock Trial class ope	-		# Stud		Over 100	
item(s) will be used		ts regardless of major; c) The Mediation class open to a		s)		Impacted	per Year	Over 100
		te students regardless of major. This upgrade will als						
	•	students that could not otherwise attend UT to atter						
	l classes remo	stely: d) the University of Toledo nationally recognize						

## Provide a brief description of the technology requested\*:

Location equipment or

software will be used/stored

Mock Trial Team open to all students.

HH 1419

Dept. making request: CJ, SW and LS

Many of the classrooms in the HHS Building are mediated and functioning well. However, the courtroom was initially outfitted in 2004 and there is a desperate need for a more-up-to-date technology infrastructure in the courtroom before it becomes obsolete.

Will Tech Fee funds be needed for

annual renewals or maintenance?

## Briefly describe how the technology will be used (function)\*:

A new infrastructure would: (a) allow images from separate sources to be displayed, for example, showing an image or power point for classroom instruction, showing an image from the evidence camera, showing a video or still photograph from a laptop, a limiting instruction in PowerPoint from the judge's computer; and so on (b) facilitate conversion from analog to digital equipment, (c) reduce future overhead and maintenance costs, (d) provides UT with a competitive advantage and allow students to receive the proper training needed to compete in the marketplace, (e) allow students to bring their own devices such as iPads, cellphones, laptops, and other electronic devices into the McQuade Courtroom.

Provide a rationale that Tech Fee funds are appropriate for this request*:
As stated above, an up-to-date technology infrastructure in the courtroom would benefit many students across curricula. This is the type of technology that
students want to see their tech fee dollars utilized for.

\*Keep in mind that the committee members come from a variety of educational backgrounds and may not be familiar with department specific language. Please use concise, common terminology so that committee members reviewing this form will be able to fully understand the request.

If you are submitting a request for computers, printers, scanners or software, you <u>must</u> consult with College Computing and the technology staff, to acquire a quote and to make sure that this equipment/software is supported by UT and compatible with existing technology.



Sales ~ Consulting ~ Design ~ Integration Confidential Sales Quotation

**Kyle Parsons** The University of Toledo

2801 West Bancroft Street HH 2100 Mail Stop 119 Toledo, Ohio 43606 United States of America

kyle.parsons@utoledo.edu

Questions? Please call:

419-874-2850

**Quote Number:** 

3012723

Date:

7/20/2015

**Quote Expires on:** 

8/19/2015

Sales Person:

Kevin Olden, CBTE, CBNT, CTS

item	Mfr	Part #	Description	Price	Qty	Extend
			HHS1419			
		NULSOTA II. IN DESIGN OF COMMENTS	MOCK COURTROOM			
1	Crestron	DM-MD16X16-	16x16 DigitalMedia™ Switcher w/Redundant Power	\$5,975.61	1	\$5,975.6
		RPS	Supply			3
2	Crestron	DMC-4K-C	HDBaseT® Certified 4K DigitalMedia 8G+™ Input	\$792.68	6	\$4,756.1
=			Card for DM® Switchers	*1.2		3 4.53
3	Crestron	DMC-4K-HD	4K HDMI® Input Card for DM® Switchers	\$487.80	4	\$1,951.2
4	Crestron	DMC-4K-CO-H	2-Channel 4K DigitalMedia 8G+ Output Card for	\$792.68	4	\$3,170.7
		D	DM® Switchers			
5	Crestron	DMC-4K-HDO	2 Channel 4K scaling HDMI® Output Card for DM®	\$1,097.56	2	\$2,195.1
			Switchers			
6	Crestron	DM-TX-201-C	DigitalMedia 8G+® Transmitter 201	\$792.68	5	\$3,963.4
7	Crestron	DM-RMC-SCAL	DigitalMedia 8G+® Receiver & Room Controller	\$853.66	7	\$5,975.6
8	C	ER-C	W/Scaler	4052.66	1	\$853.6
8	Crestron	DM-TX-200-C-2 G-W-T	Wall Plate DigitalMedia 8G+™ Transmitter 200, White Textured; includes PW-2407WUL	\$853.66	1	\$055.0
9	Crestron	CP3N	3-Series Control System®	\$1,300.00	1	\$1,300.00
10	Crestron	TSW-1050-TTK-	Tabletop Kit for TSW-1050 & TSW-1052, Black	\$125.00	1	\$125.00
	Ciconon	B-S	Smooth	<b>V</b> 123.00		¥ 123101
11	Crestron	TSW-1052-B-S	10.1" Touch Screen, Black Smooth	\$1,200.00	1	\$1,200.00
12	Crestron	TSW-750-B-S	7" Touch Screen, Black Smooth	\$700.00	1	\$700.00
13	Crestron	TSW-750-TTK-	Tabletop Kit for TSW-750 & TSW-752, White	\$100.00	1	\$100.00
		W-S	Smooth			
14	Crestron	TSW-750-TTK-	Tabletop Kit for TSW-750 & TSW-752, White	\$100.00	2	\$200.00
		W-S	Smooth		- 11	
15	Crestron	TSW-750-TTK-	Tabletop Kit for TSW-750 & TSW-752, White	\$100.00	0	\$0.00
16	Crestron	W-S TSW-UMB-PMK	Smooth  Pro Construction Mounting Vit for TSW LIMP	\$15.00	1	\$15.0¢
	Crestron	CEN-SW-POE-5	Pre-Construction Mounting Kit for TSW-UMB 5-Port PoE Switch	\$200.00	1	\$200.00
18	Kramer	VP-426	HDMI/Computer Graphics Video & HDTV ProScale™	\$412.50	3	\$1,237.50
	Mamer	V1 420	Digital Scaler	\$ 112.50		<b>4</b> 1,23 1.30
19	Kramer	VIA-COLLAGE	VIA Collage is a WINDOWS based computer with	\$3,350.30	1	\$3,350.30
			the power to connect any device that people bring			
			to meetings: Mac® or PC laptops, tablets, iOS or			
			Android based smartphones. With VIA you can have			
			a Bring-Your-Own-Device (BYOD) meeting with no			
			problems.	4400 54		Admo mi
20	Kramer	TP-574	HDMI, RS-232, & IR Over Twisted Pair Receiver	\$150.91	1	\$150.9

Item	Mfr	Part #	Description	Price	Qty	Extend
21	Kramer	TP-573	HDMI, RS-232, & IR Over Twisted Pair Transmitter	\$197.87	8	\$1,582.93
22	Kramer	SPK-C817(W)	Full Tile 2'x2' Ceiling Speaker - Mono - Optimized for Voice - White	\$193.90	4	\$775.61
23	Biamp	TesiraFORTÉ	TesiraFORTÉ DSP fixed I/O server with 12 analog	\$1,849.00	1	\$1,849.00
	•	AVB CI	inputs, 8 analog outputs, 8 channels configurable USB audio, 128 x 128 channels of AVB, and Sona™ Acoustic Echo Cancellation (AEC) technology (all 12 inputs)			,
24	Biamp	Tesira EX-IO	Tesira 2 channel mic/line input & 2 channel mic/line output expander PoE+	\$699.00	1	\$699.00
25	Rolls	RA235	Stereo Power Amp 35 Watt/CH 1U	\$150.00	1	\$150.00
26	Elmo	TT-12iD	Document camera HDMI, no composite video	\$709.00	2	\$1,418.00
27	Datavideo	NVS-20	Broadcast-quality H.264 HD video streaming server	\$760.98	1	\$760.98
			that provides LIVE program production and broadcast encoding for the internet. It supports 1080p resolution. The NVS-20 can accept video signals from HDMI, HD/SD-SDI, or CV sources.			
28	Panasonic	PT-EZ580U	5, 400 Lumens, WUXGA (1920 x 1200), Powered zoom throw ratio, Standard Lens, Eco Filter, HDMI, DVI-D, DisplayPort, DIGITAL LINK	\$4,182.93	1	\$4,182.93
29	Sony	SRG-300H	Sony SRG-300H 1080p Desktop & Ceiling Mount Remote PTZ Camera (Black), 30X optical zoom, HDMI Output, 16 preset positions.	\$2,224.39	1	\$2,224.39
30		FREE-A001018A	FreeFlight Set-Top Wall Mount: Universal	\$235.41	1	\$235.41
31	Chief	RPMA302	RPA Elite Universal & Custom Ceiling Projector Mounts with Keyed Locking	\$173.41	1	\$173.41
32	Chief	CMA440	Above Tile Suspended Ceiling Kit	\$91.46	1	\$91.46
33	Kramer	VM-4HC	1:4 HDMI Distribution Amplifier	\$272.25	1	\$272.25
34	Sharp	LC-55LE643U*	55" LED HDTV, 1080p, 120Hz, 3-HDMI, 1-USB, 1-Component, 1-Composite, Roku Stick	\$634.50	2	\$1,269.00
35	Sharp	EWC3LC1R5T4	Commmercial 3yr Extended.LCD Waranty on Sharp LC-70SQ15U	\$314.62	2	\$629.24
36	Chief	CMA372	UNISTRUT ADAPTER	\$43.00	2	\$86.00
37	Chief	CMS0203	2-3' Adjustable Extension Column	\$102.00	2	\$204.00
38	Chief	XCM1U	FUSION™ X-Large Single Pole Flat Panel Ceiling Mounts	\$379.00	2	\$758.00
39	PVS	INSTALLATION	Installation Services	\$13,815.00	1	\$13,815.00
	1					

Page 2

3012723

ltem	Mfr	Part #	Description	Price	Qty	Extend
			ABOVE QUOTE DOES NOT INCLUDE SHIPI AND HANDLING CHARGES	PING		
		**				
	w					
			I 1	ıb-Total	\$6	8,596.78
gned:			PO#: Ta	ıv		

I accept the terms and conditions of this quotation.				
Signed:	PO#:			
Name:				
Terms: 30% Down/Net 30 On Orders Over \$10,000.00.  Credit Approval Required.  Major credit cards accepted with a 3% service fee.  Delivery Instructions:  Must arrive by:/ Partial Shipment? [ ] Yes [ ] No				

Sub-Total	\$68,596.78
Тах	
Total	\$68,596.78

For your protection . . . We recommend surge suppressors, tape backup, and anti-virus software for every system.

3012723

**System Integration:** Progressive payments due with equipment arrival at ProVideo Systems, Inc. facilities; notarized manifest upon request.

26471 SouthPoint Road ~ Perrysburg, Ohio 43551 ~ 419-874-2850 ~ 419-874-8056 (FAX) www.provideosystem.com